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Question: 1 
   
You want to manage your applications using NetApp Astra Control within your Azure account. Which 
two actions must be completed before accomplishing this task? (Choose two.) 
 
A. Manually provision Azure Blob storage 
B. Delegate a subnet to Azure NetApp Files. 
C. Set up a capacity pool. 
D. Export your Azure AD Administrator key and import it into Astra Control. 
 

Answer: BD     
 

Question: 2 
   
Your company uses all four of NetApp's storage offerings: ONTAP, StorageGRID, Element, and E-Series. 
You are asked to provide persistent storage to the OpenShift group by using NFS. 
In this scenario, which of the available storage deployments would provide access? 
 
A. StorageGRID  
B. ONTAP Select 
C. E-Series 
D. Element 
 

Answer: C     
 

Question: 3 
   
You want to add your NetApp StorageGRID embedded Prometheus instance as a data source to Grafana. 
What must be done to accomplish this task? 
 
A. Unblock port 9090 on the StorageGRID primary admin node. 
B. Deploy a gateway node in StorageGRID. 
C. Reboot the StorageGRID primary admin 
D. Create a dashboard for StorageGRID in Grafana. 
  
 

Answer: C     
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Question: 4 
   
You have a single node Cloud Volumes ONTAP (CVO) system in AWS. 
In this scenario, which two activities will cause system downtime? (Choose two.) 
 
A. Change the disk type of a volume from HDD (st1) to SSD (gp2). 
B. Change the Cloud Volumes ONTAP EC2 instance type. 
C. Upgrade the Cloud Volumes ONTAP system software. 
D. Apply a new Cloud Volumes ONTAP license. 
 

Answer: CD     
 

Question: 5 
   
As a DevOps engineer, you want a single tool that uses one automation language consistently across 
orchestration, application deployment, and configuration management. 
In this scenario, which tool would you choose? 
 
A. Docker  
B. Ansible 
C. Selenium 
D. Octopus 
 

Answer: D     
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